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DX 2=
I X 8=
8 X 3=
6x 3=
9x 3=
9%x9 =
3 X 8=
6 X 2=
4xX8=
10 x 3 =
11 x9=
12 x5 =
7TX 5=
12 x 2=
3 X9 =
4x9=
12 x 8=
DX b=
99X 7=
4x7=

Multiplication of factors up to 12 #7
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2) TxX9=

3) 4x3=

4) 11 x 12 =
5
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9
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11 x7=
2X 7=
9x 12 =
11 x5 =
"X 1=
11 x 10 =
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Multiplication of factors up to 12 #7 (Solutions)

bx2=10
I x8=8

§X 3 =24
6x3=18
9x3=27
9x9=281
3 X 8=24
6x2=12
4x8=32
10 x 3=30
11 x9=99
12 x 5 =60
7xXH=35
12x2=24
3x9=27
4x9=236
12 x 8 =96
b xbHh=25
9x7=63
4x7=28
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6 x 10 = 60
bx9=45

I x6=6

8 X 6 =48
10 x 10 =100
9 x 6 =54
2x4=28
8X 9 =172
10 x 2 =20
b x8=40
7x10="170
7x9=063
4x3=12
11 x12=132
11 x7=77
2x7=14
9x 12=108
11 x5 =255
TX1=17

11 x 10 =110



